Find the general solution of the system. Classify the critical point (0,0) as to type, determine whether it is stable or unstable, sketch the phase portrait

(a)
$$\mathbf{x}' = \begin{pmatrix} 3 & -2 \\ 2 & -2 \end{pmatrix} \mathbf{x}$$
, $\mathbf{f} = \begin{pmatrix} 3 & -2 \\ 2 & -2 \end{pmatrix}$, $tr(\mathbf{f}) = 3 - 2 = 1$, $det \ \mathbf{f} = -6 + 4 = -2$

Characteristic equation $det \ (\mathbf{f} - \lambda \mathbf{I}) = 0$

$$\lambda^2 - (tr \ \mathbf{f}) \ \lambda + (det \ \mathbf{f}) = 0.$$

$$\lambda^2 - \lambda - \lambda = 0$$

$$(\lambda - \lambda) (\lambda + 1) = 0$$

$$\lambda_1 = \lambda + \lambda_2 = 1$$
eigenvalues.

Gigen vectors
$$\frac{\lambda_{1}=2}{\lambda_{1}=2}, \quad \vec{v} = \begin{pmatrix} v_{1} \\ v_{2} \end{pmatrix}, \quad \vec{i}t \quad \text{if} \quad \text{a solution of the nystem}$$

$$\begin{pmatrix} A-2I \end{pmatrix} \vec{v} = \vec{0} \quad \text{or} \quad \begin{pmatrix} 3-2 & -2 \\ 2 & -2-2 \end{pmatrix} \begin{pmatrix} v_{1} \\ v_{2} \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 1 & -2 \\ 2 & -4 \end{pmatrix} \begin{pmatrix} v_{1} \\ v_{2} \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \quad \text{or} \quad \begin{cases} V_{1}-2V_{2}=0 \\ 2V_{1}-4V_{2}=0 \end{cases}$$

$$V_{1}=2V_{2}$$

$$\text{update } \vec{V} = \begin{pmatrix} V_{1} \\ v_{2} \end{pmatrix} = \begin{pmatrix} 2v_{2} \\ v_{2} \end{pmatrix} \xrightarrow{V_{2}=1} \begin{pmatrix} 2 \\ 1 \end{pmatrix} \text{ corresponds } \lambda = 2$$

$$\frac{\lambda_{2}=-1}{\vec{w}} = \begin{pmatrix} w_{1} \\ w_{2} \end{pmatrix}, \text{ it is a solution of } \begin{pmatrix} A-(-1)I \end{pmatrix} \vec{w} = \vec{0} \text{ or } \begin{pmatrix} A+I \end{pmatrix} \vec{w} = \vec{0} \end{pmatrix}$$

$$\begin{pmatrix} 3+1 & -2 \\ 2 & -2+1 \end{pmatrix} \begin{pmatrix} w_{1} \\ w_{2} \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \text{ or } \begin{pmatrix} 4 & -2 \\ 2 & -1 \end{pmatrix} \begin{pmatrix} w_{1} \\ w_{2} \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{cases} 4w_1 - dw_2 = 0 \\ 2w_1 - w_2 = 0 \end{cases} \Rightarrow w_2 = 2w_1$$

$$\text{update } \vec{w} = \begin{pmatrix} w_1 \\ w_2 \end{pmatrix} = \begin{pmatrix} w_1 \\ 2w_1 \end{pmatrix} \xrightarrow{w_1=1} \begin{pmatrix} 1 \\ 2 \end{pmatrix} \text{ corresponds to } \lambda = -1$$

General volution:
$$\overline{\vec{x}(t)} = C_1 \begin{pmatrix} 2 \\ 1 \end{pmatrix} e^{2t} + C_2 \begin{pmatrix} 1 \\ 2 \end{pmatrix} e^{-t} \qquad \begin{pmatrix} x_1(t) \\ x_2(t) \end{pmatrix} = \begin{pmatrix} 2c_1 e^{2t} + c_2 e^{-t} \\ c_1 e^{2t} + 2c_2 e^{-t} \end{pmatrix}$$

Phase portrait
$$\begin{cases}
\chi_1(t) = 2C_1e^{2t} + C_2e^{-t} \\
\chi_2(t) = C_1e^{2t} + 2C_2e^{-t}
\end{cases}$$
it is unstable.

(b)
$$x' = \begin{pmatrix} 1 & -2 \\ 3 & -4 \end{pmatrix} x$$
 $f(x) = \begin{pmatrix} 1 & -2 \\ 3 & -4 \end{pmatrix} x$ $f(x) = \begin{pmatrix} 1 & -4 \\ 3 & -4 \end{pmatrix} x$ $f(x) = \begin{pmatrix} 1 & -4 \\ 3 & -4 \end{pmatrix} x$ $f(x) = 2$ $f(x) = 2$

(c)
$$\mathbf{x}' = \begin{pmatrix} 5 & -1 \\ 3 & 1 \end{pmatrix} \mathbf{x}$$
, $\mathbf{f} = \begin{pmatrix} 5 & -1 \\ 3 & 1 \end{pmatrix}$, $\det(\mathbf{f}) = 5 + 1 = 6$

$$\underbrace{Characteristic}_{Characteristic} \underbrace{eguation}_{Characteristic} \quad \lambda^2 = 6\lambda + 8 = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_1 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 2)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4} = 0$$

$$\underbrace{(\lambda - 4)(\lambda - 4)(\lambda - 4)(\lambda - 4)}_{\lambda_2 = 4}$$

(d)
$$x' = \begin{pmatrix} 2 & -5 \\ -2 \end{pmatrix} x$$
, $f_{t} = \begin{pmatrix} 2 & -5 \\ 1 & -x \end{pmatrix}$ to $f_{t} = 0$

$$f_{t} = -4 + 5 = 1$$

$$f_{t} = -4 + 5 =$$

(e)
$$\mathbf{x}' = \begin{pmatrix} 1 & -5 \\ 11 & -3 \end{pmatrix} \mathbf{x}$$
, $\mathbf{t} = \begin{pmatrix} 1 & -5 \\ 1 & -5 \end{pmatrix}$, $\frac{tr(\mathbf{t})}{dtt(\mathbf{t})} = 3 + 5 = 2$

Characteristic equation
$$\lambda^{2} + \lambda \lambda + \lambda = 0$$

$$\lambda_{1} = \frac{-2 + \sqrt{1 - 3}}{2} = \frac{-2 + \sqrt{1 - 4}}{2} = -\frac{2 + \lambda i}{2} = -1 + i$$

Expansectors
$$\vec{V} = \begin{pmatrix} v_{1} \\ v_{2} \end{pmatrix} \mathbf{i}_{1} \text{ a solution of } (\mathbf{t} - (-1 + i)\mathbf{I}) \vec{V} = \vec{D}$$

$$\begin{pmatrix} 1 - (-1 + i) & -5 \\ 1 & -3 - (-1 + i) \end{pmatrix} \begin{pmatrix} v_{1} \\ v_{2} \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 2 - i & -5 \\ -2 - i \end{pmatrix} \begin{pmatrix} v_{1} \\ v_{2} \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \text{ or } \begin{cases} (2 - i)v_{1} - 5v_{2} = 0 \\ v_{1} - (2 + i)v_{2} = 0 \end{cases}$$

$$\vec{V} = \begin{pmatrix} v_{1} \\ v_{2} \end{pmatrix} = \begin{pmatrix} (2 + i)v_{2} \\ v_{3} \end{pmatrix} = \begin{pmatrix} 2 + i \\ 1 \end{pmatrix}$$

$$\vec{V} = \lambda i = \begin{pmatrix} 2 + i \\ 1 \end{pmatrix} e^{(1 + i)t} \begin{pmatrix} 2 + i \\ 1 \end{pmatrix} e^{-t} \begin{pmatrix} \cos t + i\sin t \\ \sin t \end{pmatrix} = e^{a + it} \begin{pmatrix} \cos t + i\sin t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \sin t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + i\sin t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \sin t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \sin t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \sin t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \sin t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \sin t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos t + \cos t \\ \sin t \end{pmatrix}$$

$$\vec{V} = i \begin{pmatrix} \cos t + \cos t \\ \cos t \end{pmatrix} + i \begin{pmatrix} \cos$$

(1)
$$x' = \begin{pmatrix} 3 & -2 \\ 1 & -1 \end{pmatrix} x$$

$$A = \begin{pmatrix} 3 & -2 \\ 4 & -1 \end{pmatrix} tr(R) = 3 + 2 = 2 + 5 = 0$$

$$A_1 = \frac{2 + 1 + 20}{2} = \frac{2 + 1 - 10}{2} = \frac{2 + 41}{2} = 1 + 2i$$

Eigen vector

$$V = \begin{pmatrix} V_1 \\ V_2 \end{pmatrix}$$

$$\begin{pmatrix} R - (1 + 2i) & T & V = 0 \\ 3 - (1 + 2i) & T & V = 0 \end{pmatrix}$$

$$\begin{pmatrix} 3 - (1 + 2i) & T & V = 0 \\ 4 & -1 - (1 + 2i) & V & V_2 \end{pmatrix} = \begin{pmatrix} V_1 \\ V_2 \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix} \text{ or } \begin{cases} (2 - 2i) & V_1 - 2V_2 = D \implies V_2 = (1 - i) & V_1 \\ 4 & V_1 - (2 + 2i) & V_2 = 0 \end{pmatrix}$$

$$V = \begin{pmatrix} V_1 \\ V_2 \end{pmatrix} = \begin{pmatrix} V_1 \\ V_2 \end{pmatrix} = \begin{pmatrix} V_1 \\ (1 - i) & V_1 \end{pmatrix} = \begin{pmatrix} V_1 \\ 1 - i \end{pmatrix}$$

$$V = \begin{pmatrix} N_1 \\ V_2 \end{pmatrix} = \begin{pmatrix} V_1 \\ (1 - i) & V_1 \end{pmatrix} = \begin{pmatrix} V_1 \\ (1 - i) & V_2 \end{pmatrix} = \begin{pmatrix} V_1 \\ 1 - i \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t + i \sin 2t \\ \cos 2t + i \sin 2t - i \cos 2t - i \cos 2t \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t + i \sin 2t - i \cos 2t - i \cos 2t - i \cos 2t - i \cos 2t \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t + i \sin 2t - \cos 2t \\ \cos 2t + i \sin 2t - i \cos 2t \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t + i \sin 2t - \cos 2t \\ \cos 2t + \sin 2t + i \cos 2t - \cos 2t \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t + \sin 2t - \cos 2t \\ \cos 2t + \sin 2t - \cos 2t \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t - \cos 2t \\ \cos 2t + \sin 2t - \cos 2t \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t - \cos 2t \\ \cos 2t + \sin 2t - \cos 2t \end{pmatrix} = e^{\frac{1}{2}} \begin{pmatrix} \cos 2t - \cos 2t \\ \cos 2t + \sin 2t - \cos 2t \end{pmatrix}$$

Thus, we have portrait as $X_1 = X_2 = X_1 = 1 + 2i$ and $X_2 = X_2 = 1 + 2i$ and $X_3 = X_4 = 1 + 2i$ and $X_4 =$

2. Solve the initial value problem.

(a)
$$\mathbf{x}' = \begin{pmatrix} 5 & -1 \\ 3 & 1 \end{pmatrix} \mathbf{x}$$
, $\mathbf{x}(0) = \begin{pmatrix} 2 \\ -1 \end{pmatrix}$
General solution (see #|c)
$$\overrightarrow{x}(t) = C_1 \begin{pmatrix} 1 \\ 1 \end{pmatrix} e^{4t} + C_2 \begin{pmatrix} 1 \\ 3 \end{pmatrix} e^{2t}$$

$$\overrightarrow{x}'(0) = C_1 \begin{pmatrix} 1 \\ 1 \end{pmatrix} + C_2 \begin{pmatrix} 1 \\ 3 \end{pmatrix} = \begin{pmatrix} 2 \\ -1 \end{pmatrix}$$

$$\begin{cases} C_1 + C_2 = 2 \implies C_1 = 2 - C_2 = 2 - \left(-\frac{3}{2}\right) = \frac{7}{2} \\ C_1 + 3C_2 = -1 \\ C_2 - 3C_2 = 2 - (-1) \implies -2C_2 = 3 \implies C_2 = -\frac{3}{2} \end{cases}$$

$$\overrightarrow{x}'(t) = \frac{7}{2} \begin{pmatrix} 1 \\ 1 \end{pmatrix} e^{4t} - \frac{3}{2} \begin{pmatrix} 1 \\ 3 \end{pmatrix} e^{2t}$$
or
$$\begin{cases} x_1(t) = \frac{7}{2} e^{4t} - \frac{3}{2} e^{2t} \\ x_2(t) = \frac{7}{2} e^{4t} - \frac{9}{2} e^{2t} \end{cases}$$

(b)
$$\mathbf{x}' = \begin{pmatrix} 3 & 1 \\ 1 & -5 \\ 1 & -3 \end{pmatrix} \mathbf{x}, \quad \mathbf{x}(0) = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

General solution
$$\vec{x}(t) = e^{-t} \begin{bmatrix} c_1 \left(\frac{2\cos t - mt}{\cos t} \right) + c_2 \left(\frac{2\sin t + \cos t}{mt} \right) \\ \cos t \end{bmatrix}$$

$$\vec{x}(0) = c_1 \left(\frac{2\cos t - \sin t}{\cos t} \right) + c_2 \left(\frac{2\sin t - \cos t}{\sin t} \right) = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$c_1 \left(\frac{2}{1} \right) + c_2 \left(\frac{1}{0} \right) = \begin{pmatrix} 1 \\ 1 \end{pmatrix}$$

$$\int_{0}^{1} 2c_1 + c_2 = 1 \Rightarrow c_2 = 1 - 2c_1 = 1 - 2 = -1$$

$$c_1 = 1$$

$$\vec{x}(t) = e^{-t} \left(\frac{2\cos t - \sin t}{\cos t} - \frac{2\sin t - \cos t}{\sin t} \right)$$

$$= e^{-t} \left(\frac{2\cos t - \sin t}{\cos t - \sin t} \right) \text{ or } \begin{cases} x_1(t) = e^{-t} \left(\cos t - 3\sin t \right) \\ x_2(t) = e^{-t} \left(\cos t - \sin t \right) \end{cases}$$

3. Find the general solution of the system.

Find the general solution of the system.

(a)
$$x' = \begin{pmatrix} 1 & -1 & 4 \\ 3 & 2 & -1 \\ 2 & 1 & -1 \end{pmatrix} x$$
.

Characteristic equation: $\det(ft - \lambda I) = 0$

$$\begin{vmatrix} 1 - \lambda & -1 & -1 & 4 \\ 2 & 1 & -1 & 4 \\ 2 & 1 & -1 & 4 \end{vmatrix} = (1 - \lambda)(2 - \lambda)(-1 - \lambda) + 2 + 12 - 3(1 + \lambda) + (1 + \lambda) \cdot \cdot \cdot \cdot (2 - \lambda)$$

$$= -(1 - \lambda)(2 - \lambda)(-1 + \lambda) + 14 + 2 - 3 + 2 + 1 - 16 + 6 \lambda - \lambda$$

$$= -(1 - \lambda)(2 - \lambda)(-1 + \lambda) + 4 + 4 \lambda$$

$$= -\lambda + \lambda + 2\lambda^2 - \lambda^3 - 4 + 4 \lambda$$

$$= -\lambda^3 + 2\lambda^2 - 5\lambda + 6 = 0$$

$$(\lambda - 1)(2 - \lambda)(2 + 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 + 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 + 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 + 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1)(2 - \lambda)(2 - 2 - 4) = 0$$

$$(\lambda - 1$$

General volution: $\mathcal{X}(t) = C_1 \begin{pmatrix} -1 \\ 4 \end{pmatrix} e^t + C_2 \begin{pmatrix} 1 \\ 2 \end{pmatrix} e^{3t} + C_3 \begin{pmatrix} -1 \\ 1 \end{pmatrix}$

9

(b)
$$\mathbf{x}' = \begin{pmatrix} 1 & 0 & 0 \\ 2 & 1 & -2 \\ 3 & 2 & 1 \end{pmatrix} \mathbf{x}$$
.

Eigenvalues: $\lambda_1 = 1$, $\lambda_2 = 1 + 2i$, $\lambda_3 = 1 - 2i$

Eigenvectors: $\overrightarrow{V} = \begin{pmatrix} 2 \\ -3 \\ 2 \end{pmatrix}$, $\lambda_1 = 1$

$$\overrightarrow{W} = \begin{pmatrix} 0 \\ 1 \\ -i \end{pmatrix}$$
, $\lambda = 1 + 2i$

$$\overrightarrow{W} = \begin{pmatrix} 0 \\ 1 \\ -i \end{pmatrix} e^{(1+2i)t} = \begin{pmatrix} 0 \\ 1 \\ -i \end{pmatrix} e^{t} \begin{pmatrix} \cos 2t + i \sin 2t \\ \sin 2t - i \cos 2t \end{pmatrix} = e^{t} \begin{pmatrix} \cos 2t + i \sin 2t \\ \sin 2t - i \cos 2t \end{pmatrix}$$

$$= e^{t} \begin{pmatrix} \cos 2t \\ \sin 2t \end{pmatrix} + i \begin{pmatrix} \cos 2t \\ \sin 2t \end{pmatrix}$$

$$= e^{t} \begin{pmatrix} \cos 2t \\ \sin 2t \end{pmatrix} + i \begin{pmatrix} \cos 2t \\ \cos 2t \end{pmatrix}$$

$$\overrightarrow{x}(t) = C_1 e^{t} \begin{pmatrix} 2 \\ -3 \\ 2 \end{pmatrix} + C_2 e^{t} \begin{pmatrix} \cos 2t \\ \cos 2t \\ \sin 2t \end{pmatrix} + C_3 e^{t} \begin{pmatrix} \cos 2t \\ \sin 2t \\ \cos 2t \end{pmatrix}$$